18.05.20 Worksheet 6

Use your /cnnwi@dge of Ia[ace value to solve these problems.

Mo says,

In the 10 times table, all the <
numbers have a zero.
Therefore, in Roman
Numerals all multiples of
10 have an X

Research and give examples to prove whether or not
Mo is correct.

Two different two-digit numbers both round to 40
when rounded to the nearest 10

The sum of the two numbers is 79
What could the two numbers be?

Is there more than one possibility?

¢
Jack says: My number has five

thousands, three
@ hundreds and 64 ones.

Amir says:
My number has fifty
three hundreds, 6 tens o)
and 4 ones. g

Who has the largest number?
Explain.
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